( BOIHE 9AE A /1\— A )
ER 294 9A 38 (H)
HDCP16.4% T A

LI 3 £ ouT IN | GROSS | HDCP | NET
¥* 1 KU =EFH 40 39 79 | 115 | 675
¥ 2 8% K 35 38 73 49 | 68.1
*3 R IEL 39 37 76 7.8 | 68.2
*4 EHBH EB 41 42 83 | 13.4 | 69.6
*5 ARE & 42 39 81 10.8 | 70.2
6 Kig B 37 37 74 3.6 | 70.4
*7| P9HE $ErE 46 41 87 | 16.3 | 70.7
8| LER IEZ 38 39 77 6.0 | 71.0

9] @l BX 40 39 79 8.0 | 71.0
*10| i X 43 41 84 | 127 | 71.3
11 AU 1R 43 42 85 | 13.3 | 71.7
12 =% Fn8l 47 41 88 | 16.1 | 71.9
13] K& Xif 45 40 85 | 128 | 72.2
14| Z25F HAF 43 39 82 9.7 | 72.3
*15 HE Ba 43 44 87 146 | 72.4
16) #BH EA 43 45 88 | 155 | 725
17 & B 43 45 88 | 154 | 72.6
18|  HIJII —BR 41 44 85 | 12.3 | 72.7
19| W Hik 42 41 83 99 | 73.1
*20 EF & 41 40 81 7.8 | 73.2
21 AKXRHE H 45 41 86 | 12.0 | 74.0
22l FIl E— 41 39 80 .8 | 74.2
23 /MK EBR 45 45 90 | 156 | 74.4
24| &H #88 41 43 84 9.1 74.9
*25| /NEyE Sk 40 44 84 9.1 74.9
26 KiE = 43 47 90 | 15.0 | 75.0
2711 aeh FEEE 47 41 88 | 12.0 | 76.0
28| BE ZE—HB 43 47 90 | 13.8 | 76.2
29| fip IEB 45 46 91 145 | 76.5
*30| BE B— 40 41 81 4.3 | 76.7
31 =R 45 46 91 14.3 | 76.7
32| IJw @A 41 43 84 6.8 | 77.2
33| PRER FE 44 44 88 | 10.8 | 77.2
4| #H XE 49 45 94 | 16.2 | 77.8
*35| HAMH IFsE 46 47 93 | 15.1 | 77.9
36 B 44 47 91 13.0 | 78.0
37 P BER 41 49 90 99 | 80.1
38| MK =i 46 48 94 | 13.8 | 80.2
39| £#H & 45 48 93 | 12.7 | 80.3
%40 XiB = 48 46 94 | 13.7 | 80.3
41 BEA fx 43 42 85 4.3 | 80.7
2 BH WE 42 46 88 6.8 | 81.2
43 BHAE M= 48 45 93 | 104 | 82.6
44 FL EX - - - - -
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( RAGIF 9AE A/— Bd )
R 294 98 38 (H)

HDCP16.5~RHn#8& [XWPTHH *M
LK E & ouT IN | GROSS | HDCP | NET
* 1 TE E#— 38 45 83 20.5 | 62.5

* 2 FK EH 42 43 85 | 225 | 625

*3 XY AF 45 42 87 234 | 63.6

* 4 ®FRER 41 46 817 213 | 65.7

w5 ITE Eii 46 42 88 | 22.3 | 65.7

6 ME FIR 42 47 89 | 23.0 | 66.0

%7 BE & 417 44 91 246 | 66.4
8 ER EH 45 45 90 | 228 | 67.2
9 A & 44 43 87 19.7 | 673
*10 A 8k 417 o0 97 29.1 | 67.9
11 EF SEER 45 46 91 23.0 | 68.0
12] ¥ #8— 44 47 91 22.8 | 68.2
13| ZEEh #— 46 45 91 22.5 | 68.5
14 #©H BE{T 43 417 90 19.8 | 70.2
*15 ZF B 46 45 91 20.8 | 70.2
16| Kiz &— 50 40 90 181 | 71.9
17 Wik BE 42 o0 92 201 | 71.9
18 BIRF i 417 45 92 19.4 | 72.6
19) RHE A5 41 50 91 17.2 | 73.8
*20] Tk E= 417 46 93 19.1 | 73.9
21| KEKX S 42 49 91 169 | 74.1
22 RO #z 48 47 95 20.7 | 743
23] ™WHE BX 417 90 97 22.7 | 743
24| Rk &R 417 49 96 21.2 | 74.8

%25 BH EF 53 47 100 | 248 | 75.2

26 IUTF #= 46 94 100 | 240 | 76.0

21| AR HE 46 03 99 | 225 | 76.5

28| #AHE MR 48 47 95 18.1 | 76.9

29 HO K= 52 47 99 215 | 715

%30 e Bk 49 50 99 214 | 71.6

31 SREH PR 51 49 100 | 224 | 71.6

32| ME EW 58 o1 109 | 30.8 | 78.2

33) itH —8R 48 54 102 | 21.9 | 80.1

34 Atk = 52 03 105 | 23.1 | 819
*35 =% ¥ 51 58 109 | 271 | 81.9
36 # RE 45 o4 99 168 | 82.2
37 [ AR 51 52 103 | 20.4 | 82.6
38 Tl iF— 53 o0 103 | 19.7 | 833
39 AR BR— 49 60 109 | 244 | 84.6
%40 BE BRE 53 o1 104 | 19.0 | 85.0
41 RE FHE 56 55 111 | 244 | 86.6

42| Xif & 56 95 111 | 228 | 88.2
Xt EH E—EF - - - -




